do /dt [nb/GeV*

400

300

200

100

-100

-200

-300
400

300

200

100

-100

-200

-300

r 400 r

F e r

" Q’=138GeV*> | 300 [ Q’=1.38 GeV>

F xB=0.17 [ XB=0.17

C 200

F L ii

C 100 ° o

L = [ ]

STT N . N 1 x :

- -100 [ t

* -200 n

— -300

r 400 —

a Q’=2.21GeV®> | 300 | Q’=2.21 GeV*

L x,=0.28 t x;=0.28

- 200 -

* 100 * \

[ ° [ e °

5 - g Tl - — *

. i O ——+4+——3—— 1

- -100 |

— -200 - n

F -300 [

| =S SRR U R R I T Eeov b b b b b ey Iy

0 0.2 04 06 0.8 12 14 0 0.2 04 06 0.8 1 12 14
-t [GeV?] -t [GeV?]




